TBREMADRAAR SHENARARE
TR £ =i 2 ES 3 1TIRE £ =] E:] S =
FEAHT 1,509 750 759 634 SEFFRET 570 291 279 302
JUHT 2423 | 1,186 | 1,237| 1,047 BT 259 123 136 101
FUZERT 642 282 360 312 = AR I ET 2376 | 1,164 | 1212 968
BRAHET 1,829 898 931 872 & |/KEHET 172 85 87 67
DIFT B 394 187 207 199 B |SREET 315 137 178 130
B |5 RET 1,798 940 858 842 i |RET 1,444 726 718 621
#H | EARET 1,105 562 543 490 B g5 721 358 363 333
# (= mEr 259 132 127 129 S s BT 288 134 154 116
B | zar 809 397 412 378 FeHET 812 368 444 400
A EHET 307 128 179 142 NG 498 243 255 246
REEE 154 76 78 63 B LR 2,941 1412 | 1529 | 1,210
TRET 86 39 47 59 E=3%:) 701 355 346 364
BXAES 118 49 69 59 4 [ ET 316 150 166 130
ekl 517 201 316 239 LSRR T 1,258 610 648 569
ES:) 1,387 674 713 646 E Faor FLHET 293 137 156 113
i | A SAEET 3369 | 1,638| 1,731 | 1,490 X |\LERET 191 92 99 84
i |hRx 3,781 1817 | 1,964 | 1,653 R EHE 1,508 697 811 633
| 5 AT 1,045 465 580 465 EHET 1,427 704 723 571
B |y 3092 | 1528 | 1564 | 1,350 ILAHET 568 261 307 250
H ST 345 166 179 161 —ARRX 487 225 262 203
HACHTET 321 160 161 140 IEHET 522 247 275 211
A4 _E#T 140 72 68 56 PN g2k TG ) 169 123 46 112
,‘E‘é H BT 1,671 834 | 837| 799 A T=P P o14 | 452 | 462 | 297
#h HANETEER 119 54 65 56 +t EHET 3202 | 1610 1592 | 1,475
X [ERXEE 596 283 313 273 Fa #HT 337 185 152 233
H X ARET 1,366 679 687 578 + EHFTET 167 83 84 72
FiS=1:l) 552 264 288 215 i‘i T 2260 | 1,087 | 1,173 952
0 gk FH T 846 373 473 359 X |AiTEET 279 119 160 132
EIEE 107 44 63 43 75 T 917 448 469 375
f( iiiladiin) 241 108 133 105 E 1)) 946 463 483 409
B MEMNEERER 3302 | 1576 | 1,726 | 1,299 HESUHET 1,308 629 679 403
i [FREAEHRRK | 2584 | 1279 | 1,305 904 T ErHET 503 238 265 240
E |iENERER 1,168 569 599 394 =EfT 282 135 147 111
w0 ET 1,355 647 708 562 BEEEAS 158 80 78 72
EAHHET 2097 | 1017| 1,080 916
 |SHEE 1,475 729 746 658 KOMREITHRIERENRGDIENHEHDT. ADFIC
E | HEMt 378 186 192 161 EENHYET,
M |47 A% BT 404 191 213 159
B |y 52 25 27 26
R FHET 447 190 257 244
WX 268 124 144 116




